138 Dilferences in charne

= et within closely related groups of oroanisms is referred fo
5 g ]

——— i

| (1) genes A2y variations (3) (1) and (2) bl ot syt
S8 Bowotia e MEAFe Foas Ao Wi fo dfTod® ol Boom — wobrd.

3. (1) astoggyes (2) Blergen (3) (1) ®oaw (2). (4) B0 =
139 A cross between & rotng
pea-plant (rrYY), (he seeds produced in [
AT) Wrinkled and Y

» green seeded pea-plani (RRyvy) an

a wrinkled vellow seeded
generalion are
ellow

2 (2} Wrin |-_|c'|_'§ and Green
v =) Road: and Yellow (4) Round and Green
el 0o SRS e e (RByv) & 1 Sobaf Sdy Ddareu He
:_l'l-"ﬁa_fzg.' 'tl'l'll"ﬁl.l RoStm patd F . dda Jéaraodl Diaeey Mo
[ ] ) S0 ey (2 Gt
Y .
(3) ol Hsan SEER (4 | doboty ety
140 In | » Zeneration, the fenolvpic ratio of monohvbrid cross. is
Iy 8608%, D8 so8sm = SetiPS DA
( (1) 9:3-3 (23337 ey ] {4y 3:1:39
141 Iotal amount ol urine excretel Cr day. Dy I nmans 1s a . . l!‘il'lﬂi.
""T‘-'-_I.‘ BPamg b Ll e R S
() 10- 1.2 2) 1.2:- 1.4 3) L4~ 1.6 (4) 1.6 = 1.8
142 functions as fltration unit
(1) Bowman's ¢ apsule (2} -Glomerulus
| (3) Loop of Henle (4) Renal tubule
I HEdS RSrwors 95 7

e — =
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132 Muscular tissue _r\]'c."-'.t‘nl il I||l.: "l'.‘l.ll (4] the © E-“ .')\l"-‘-'-ﬂ‘

as
: {3y Trachea
(1) Brongehi {2} Diaphragm S iaids {1) &f
y - moth |

g o : o el Ll o
A s BS arHos" Hoftonndheg sl .

X —_— s
2 A a3 (4) aroXslfy e aid =
[ B R LF mis

s their respective passages |
= 4 air towards i .
contrals the movement of food and air 10

'\ Nasal cavity  (4) Trachea
(3] INASA kL &

& \ l""“ ACH
ey ey P ke By W st ke : | 8 -i,‘.":.'l'
2l el B = b E |
(i) o i

Seach ; il orzanellé |
134 Diminge cellular ros

|
1y Mone ol the A

« Loy [
¥ 1 WUCIELS

=i
3 ol =
=i lehela SE glwr 3, |
. %
= el (%) ! (1)
L I\ } 3 o ] LR ¥ | - .

(1 ) Pair 5 s { (5 1) 24 Fars
g 1y wEs EFraiaien (eehafs Aodron '. 140 bt
18] 1 o 39 e 4y ‘..!.- i | I

[ 1% form sumlar func 101 are illed |
! 2y Analogous Organs |
41
f3) VES 3] } 1) one ol | ihiove |i 1
|.f.' L = r, ) iy S ) ST

i 1 | 1 1 se from pre-ex g 15 was |
|

|-||r|":|~-.,-;- I

] - |

M Mendel | Vireho ) Lamarck 0

. ; |
) None of the above

A Lt fl T &
o
[RHE Soertn ?
- = = =
| I) oo (2) 885
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swhich part of thie beain canirgls the gmotions 7
(1) -Cerchizm (2 Diencephaion
{3) ‘Mid brain (4) Cerchelhun
misks SEL =) AP o Ry Dot B 7
kg

(2) ezo ﬁ"gc
Sy Tosid

(4) saaispe (Hodyi)

il fertilization is observed

I in )

(1) Monkeys (2) Humais 5 Fih 4y AN of the
or pohodes

(1] Sdoe (2 sy (3) Bdew (4) 3=y

Land functional unit of nervous system is

Mephron (3} Ostencyies

above

L VLRI
I A &5 -' & { R-& I L VIR |
} ._ \_. Tl |I y I. % --.I 151 (4 Lactobaciliu
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Which one of the

electronic configuration violating Hund's rule 7

S domS Desestin 56 7

followine metal oee

Irs in the nati form
o B e e
!“""f_-";'." e Ll .
(2] A
I L .I |~- ¥ i iy 1
itV an acidie
98 Identily an acidic flux an ong_the followin
SO0 G aia” wh o o % .
(1) 810 (2) Ca0) _
d - ()
99 Which of the following 1 10N § 1l
[BO8 o=435" e 5 7
¥l A :
Illlll L 1 3 1l 4y §
10 The carbo ate ore among the following i
(1) Bauxite (2y Maonasite (3 Hacmste (AN Clamaatis
LY ¥ ALTLAJLC
5 IEGCJ v
(1) argye5 () & (3) A
L < R A
P} -
[
— e »
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g6 Porallel beam of light after
(1) Paole

(3} Focus

passing through o conves lens poss throngh a point called
(2 Centre of curvalure
(4) Wone of the shove

Errodd 5YoB Shoeati) i . =
DOREL Sioarard Shdin rhomr podrdons diord B Boddy roar SR T

(1) g yasay A

g (2) Bige- Boldan

(4) DRy

] he size of the i e :

g1 BAC 517z of the mage fonned by a convex mirror is always
of the nbovye Y Enlarged

(2) Dimimnished
V. Dohle Gl

¢ of the object (4)

MNone

BAroRraEO &

'

b8 1he l1]1|1|'II-.'::| mirror whose

{1} Convex mirmor

reflecting surface curved outward s

- Pl P s
(23] LANE M OT

ase of g 69 of a spherical miror 35 10 em, what is the value of radius of
(2) 20 am (3) 30 cm

fi'srsd 1 Glawsy & : [} Bo.ab. ascasis, it o
(1) I ul (2) 20 0. (3) 30 =0
70 a lens .i'.'r'l\.'l'll‘:k on
I’ curvature (2) Refractive mdex of the lens
(4) None of the-above
G =
(i)
o
ot iR - PRI
(3) (1) 3s0an (Z) (#) =30 5
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len which

1eight

[ e

238 anely Do,

{1
I
k

go=

46 When twa dice

47 A

the pr "'.’li.i'"”"_'. 0

49 [he lenoth of the

i
)30
i) FFind | 1l
25 Y 0B
£ . e
L
\ =

BEE cOntaing *

Itie angle between this 1

O B

hlack bally

angent and radius drawn through the point of contact is

il Zode o B ed

(3) 90° (4} R(=

re rolled the probability of getting same odd number on two dice is

= m | AT G -
rdbe Jnth LB By Soms eddonds 3

I8 13 6

15 drawn at random. then

ndd 6 i'-"d b

ey i al
f :"-”'!: ed !"'-||! 15

6" Jthay s Seasn. Bt e Home S s Jdodly ol
g L !
) LEE]- e
b
| (%) 4 | 5=
i | 25 | r il lengtl he angle
&) o 3 Dky 5 ¥ 0 ol . s
- ¥ - R P -
! Al { gy
; TS L s o i v o ; i -
Hvme a I 2oV ¢ TLILITH i e elevation 60°
i ' 3 . s v 1 ¥ ek
ol i 4 2.8 Juid frah & U e
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N .
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a7 .I‘h.u radius of the sphere is increased by 100% then the volume of the resultant sphere
the thiry is increased by
- =8 00 Sty orpdvstuy 100% o0, Dod A G, i Mlraiy Jos Db ?
= 5 I et :
o (1) 200% (2) 700% (3)-500% (4) 900%

38 The radii of two cylinders are in the ratio 2+ 3 and their heights are in the ratio 5 -3
then the ratio of their volumes are
Bods Sr2re redrore 38 2 1 3 Sbas wd alie D@ 5 13 eowid sl i s0dreEe K08
Y- 2 i Sy = - w
() 20:27 (2) 40: 50 (3) 20:30 _A4T 50 :30

L b Bk . z v * 5 T v I
39 RF and RO are the two tangents 1o the circle with centre ‘0" and £ POQ = 110° then
LZPRO=

O BolShune e Seedd RP Gdots RO enBod O j0men wdakh L FOY =1 10" svooas,
2 PRO
i
e
- ,l"‘*'\“\-h-___q__
e N T

(3 {1107 —

\

707 (2) 2 3 -35° {4) 1000

40 From the below figure the value of

(Bod Do dood 'y Dend

(1) 2021 cm (b)) £2) 2022 ém o)

(3) 2220 cm (o) (4) 2020 cm 2of)
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From the helow figure

the value of "x'=_

(Bob Shin Hof v Seus

(1) 1 (2}, 12.83 (3). 14 (4) 25

31 In the below figure Op

y e el O =13 2o0h {

{ ™

(2) 100 cm

»
o
L
I

T
-

[t the poant Plx, v) divides the ling s

internally in the ratio m, :m, then Plx, v)

B(x5, Vo] Bodomes Jdyds Dar poaray My i,

I 13em: GP=12¢m and " 1L A8 then the value af

20D P =12 o.ab. @da OF L AB eaud A8 Qe

¥V, | and

J 2
Do Docody Pl o) Gusy Mrdsten
Al Xa —MinX) Mo = M5 Y . Lig ¥ et .4 )
= (L) - f
(1) | "y — - i, — i 2 iy — iy |
-"-'-‘|-"--| F X 'l"‘l| IR TS ! f _-.r_-I L__: I-.r,': -‘I 'r”‘.-l' 2 ~ J'J"_‘.l.: \
! T - % .
~1 o1 z L 8k B 43 -
Pes T e ) B my+my My + M

] F

iB

wiy (310 cmif%xo.an) 4y 75 cmiTon)
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(EIRCE CE0 Eive ions in water.
e groTey =l B umm mh o

il Valuly (3) Hy0" (4) OH

(1§ Gotour of anhydrous CuS ) is

(1) White /[,3! Blue (3} Green (4) Yellow
L] Cust), dors
(1} Benip (2) deo (3) esidisy (4) v

e H]E-'!IL."H[!:.I Powder is farmed from
(1) Slaked lime + HCI {2y Slaked lime + Cl,
(3) Quick lime + HCI {4y Ouick lime + C{ )
E-’nr Erab iSnod Do ydidon
(1) o6& e O+ HC () 48 .’l"-'.'.._': « 1

(3) 4 Y0+ HC) (4) o8 fvdyo + ! 87

M Mixing acid o water |

. - Y S . P
#1) exothermic reaction £2) endothermic regction

1 ¥ A% none ol the above
(1) neutralisation (4) none o
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: : e e of the rﬂ“ 1
H2 The electronic configuration of an element 1S 2, 8, 6. Which ¢ B

e - 3 - -t 9
¢lement is chemically similar to the above element ¢
(3) Phosphorous 44 Chlorine

(4) g'os

(1) Nitrogen (2) Oxygen

(1) Astas (2) wByeS (3) e

113 Which of the following pair of atomic numbers indicates the s-block elements 2

f 5wy : : - 2
{Bod 856" o e Adrem Romppen 5-1E Arostan Aruerond !
2

(1) -5 6 (2) 9. 10 3y 11,12

114/ The element which belonps to it E‘L‘I'J“tf and [ 4th group in Modemn Fh_'}illi_!ig_ l'dhll:i

A4 Aluminium (2) Silicon (3) Phosphorous (4) Sulphus

2 g - P ) LY - b
DOORER0L) sl EiGalll

118

e2C0.08 wndin HETEST 35 Lhanh Sbato 148 1

(1) sarsihdobes 2) Sl (2) e (4) )b
A Sl :
115 Washing Sods is used in

il [l e, 3 L ) |

' (Glass. | aper Ir dustry (2) Manufacture of borax
1y Lleaning agent for domestic purpose (4) All of the abovi
o

0] Y L L i '-".Jn_"‘.'ﬁ"'.fu_l_

(1) o R S

1 .:-_. (0] - f:'! Yo =Tl

(3% .k =t :‘\.2-’.- r_...\;:"\ T ||| S T

)

116 Maximum number of electror resent i hit
ium number ol electrons present in an orbital of atom is

AP I 0ET ERAATS FP A rareach afRe
sPElel) ClE) SO0NErS & Goh W) e s '1&5 Mo
il 5 2
| | ] - . )
(&) k (3) 10 I 2
4y 2
- K B
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s . : ; . ; ificati J il ?
11 Which of the following process is used for the p"nﬁ"mwn of crude metal

R : s e (Omnet
(1) Roeasting (2) Poling (3) Calcination (4).Froth flotation |1

E = by,

(Eot et S'08 aadirnod S08 D07 s WF
¥ NI il S 15 Bah
(1 S5 (2} Dok (3) weps0we (4) e

(1

102 The more reactive metal in the activity series 15

. .- : N {4) Platinum 1n8 Solu
(1) Potassium {2} Iron (3) Zinc {10 LP{F-
&8 Soveded Ho &'EFo (3]
(4) Dralbo
(1) Srariato (2} {(3) =k b pH

103 Compound formed when excess CO, is passed through lime wates
aopvay o ored wiE U050 feduiipd Q080 Horddn
e ’ a - &

Ca(HCO, 109 Wh

Vil CaltH)- -'_'-:, CaCO

104 DNa+BH,0 = QNaOH + DH,, in this equation the values of A, B, C-and D) arg

A MNa+BH, C NaOH + D H, o® shésaiud® AL B, C &b D Denide

(1) 1.} { 2 =" ( ) ‘

! ' 2. D=1 Z) A 110 Th
(3) A I ( D ] A 3=1 2

- i — -
_ . ‘ 111 4§
Iy Matl (2) NaOH (33 HCI (4) HCN I
l

- § s 4 - " i i ||-l-

106 In endothérmic reaction, heat is 7
ed (2) not changes (3} absorbed (4) all of the above 4t

_":.'-=-_|;"-|- -_'.E.__ri'_"' 1 (1

(1) Sesdmrhd { Pty dodeh (3) e T

y o it (4) T5Dyarom | (3
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gt A DS arked 60 Wi 200V, 1ind (e reiaince i e bulk,
[T L LA oy W Gnbar 0y «l L ) lln.ll.}#ﬂ Pt ol T
[h) 405 (2) 1804 (0 9606 ) o !

8 Which ol the following i (he equation Toe givan cireall as peor Kirchall's loop law ?

R B O R U
BB & B SN n [ i oyt esatnbil b ety D1 7

16
l AAAAA
| ]
l J
; - | ¢
distunt 12 1.' 7
wpia () di+ld=0 (2) 3Ixi2=1 (3) A1=12=0 (4) 31=12=0

e

: . :
§0 Usage o [use in a clrcuit prevents Irom

(1) Power ctit (9N Overlsnd (3} Shor ciredit (4 None of the above
B Shern! s ¥ W A dol

ol 8 woll
i1 ._-_..-_'r"- E A . G (3) 2nl (<) :."""""I 2 4]

op  In senes connection of resistors, il one of the resistors breaks dowi, then

(L) ereurt 15 open and no current flows in the circul

) reimaca i a4 - 1 = ¥

(2) current increuses in other resistors

{3)-currénl remamns the same in other resisiors

A Y T Y sy peact = o hittle

{4) curreni decreases o other resistors a hittle

W ] ¢ o 1w EER o) ANEZ
Bl GFE i - i 1 ) el D STE, © L
() dooidho Bdoded; & '_' paar e asRdt ol

o

(2) ZoAs 5 5 aioed o Db dbof
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Hleraming i troe i case of & concave lens
) Erect and virtusl o "
u RRge Zj Iovoried md veicel meags
3 rect ssuf g . .
. i 4 Imieried and reE E=me
S B i 3 f
et Botduod ! R a |Sol i S SEA 7
alle il K= -
.‘ - o .'_ o ',' - - P S - P = p—
" ; S wSOr Y Sl L) B Lol Dtrs S rals
B - :
Ao Sl ;e o i - - -
2 i e SR et ) Seloten Llafs S A
- 3 -
=
" S Sy o -
LA oF 8
LW | . b i




| 5 e o A age 15 possible
71 For a convex lens magnification of virtual image is possit

distapge is

(1) "equal 1o F (2)greater than |
(3) dess than F {4} none of the

Sogestd SHE50 Aol Jod Srdfng® Sl doER

¢ Eodl
(1) =rgrosdivatas Srd cordiin
(3 == S5y Kol @i & (4) Q6 =&
&
72 In aneve. muscular diaphragm between agueous NUMOLT @HE
(1) Ifis (23 "Puml 3 Ketlina
Hi MESS (St Basa )l Snlie & Frie. v ;-
(1) o i (2) sz 3)
T3 Angl viston of a healtl dult huma
1) i f 1
4 hetmaenilication o i 1] Vi 1 !
i equal o one i 1 |
JTEE 5 -~ =383 F
(L) 2 ¢ 'S i
75 WA a 14 i i | no
15 1l i 1
e e e &y a1 ik
1 ig=p (2) 1
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Ln
ad

h
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Lh
h

If mode = 29, mean = 37

then median = _ -
Sremn = 09, Wdn = 32 wowd, DEgrdo = L=
(1) 29.5 2) 30 (3) 5 _~'.-+J 31

The median of 4, =6, =5.3.0. 5 and 11 is
4. -6.-5.3. 0.5 wbdats 11 o wgeddo
(15 -4 2\ & (3) 3

0 15 deleted the average pf

Average of 11 numbers is 10,5 [f one of the number
the remaining numbers js

J I‘-".I'*"E""" om0 1.5, a8 Some 9 & FeRoDs, HADS Somee Sod8

() 10:1 (2) 105 (37 9.5 (43 10.65

If sin@=coso 0<8<90%) then tan B

5in 6 = Cost {0 < B < 90=) ®ooun lanf

(L)~I (2) 4 (3) 2

In the righ angle. A ABC. / B=900° ta — 1} | F 1 USe is

BE o308 A ABC, & =4 LS = x 5?
(1) 16 =) 13 (3) 21
I'he tops of two poles are of height 20 m and 14 m are connected | ire. If ik
I ] : 25 J il 1 LI dle HNecied by 8 wire 11 e
wire makes an angle 30° with the horizontal, then the lenoth of fhe
: - e length of the wire

(1) 11 m (2)-12'm (3) 13 m (A 10+

- . ¥ 5 = ’ o - g
20) . Sbaty 14 al). 'o_."""C’_‘-';fi} e Bock moaey B y @ E E55 . - 3
el = - - L S

_§5;"-":."'~ %".-_\._r v ey CRa M= Vi

Eodl) Daled, &5 @A) Oda ...E'F il iy

)
E 1% 51
(1) 11 (2) 12 & {(2) 13 b B
1 |
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; o away from the centre of @ Cirgly
41  Calculate the length of tangent from a point 15 cm awa | =
of radius 9 cm. (4) 10 cm II g
{1y 11 em (2) 9 em {3) 12 cm i

. { 3 By, w
£ b mbd_m_]lfl‘ ed Dotsn Ll
o] 235 g}-z-{,-‘-u, gdm)rp riey :ég,:.ﬂg e ﬁi?:.d_ Ju wod 15 %0

& Doty Mod Byerns Aotads Sy te Srdbi Swfisod . I §
Ty Ty, (4) 10 Fwo.ab.
(1) 11 305 (2) 9 nodo (3}, 12, %0 .
42 [f the radius of a sphere is '2¢' then the volume will be 47
At sy :"t‘\"} S50 " 20! amand, orR DB DO |
Y,
4 3 . : . v 2 |
(Iy zm+r (2) 4nr D IR 3
' . iy 58 A > n.and S then which
43 A circle touches the sides of a quadrilateral ABCD at points P, €. & and 3 o
of the following is true 7
&8 Sy850 ABCD s&8&yeedy P, 0. R & J 48
J\:' S |
.r',!'a-"‘-""*i:::w |
D :
5 102
1A /
1 I
IFF ] ‘.'? 4"11
| | ) 1B+ D 8 I3 1.2) 5] L .‘l':':'
: |
(3]} | B+ {"[) {10+ I e ] 2 = | 3 |
il - - al . . | .

44 The curved surface ared of a cylinder is 264 m= and its volume is 924 m? then height =
of the cylinder 15 i
(1) 3 m (2) 8 m (3) 6m (4) 4 m
B8 drddin sy Hgde Breziy 264 5.0, w AT ¥34 Y
e

T K 3| B » - =

(1) 3 & (2) ‘8 b (3) 635, (4) 4 %
DA R RBOD ST 1 7 = = o g

sl .""n‘._ I i ( H\ Rl WIGH W {.:]'\.}"'. -.:E' AwlE BArm Odasdh: Ry
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F  The - : _r s L T 4 e
3 the mid-point of the Jine segment joining the points (<, 7) and (12, =7) |

1:'-. :'”l aoBct | ]':1 :} E:'-CH'.'IJ:I_;'!‘,\E. :Jﬁ.:ldl: anr-m;‘-q’j;'n: ) Ea :ud}: SL\Q;JQ‘_'} e T
(1) =7.0% _av (1. 0 (3) (0, =7) {4) (0, 7)

34 The centroid of a triangle is (4, 1) and two vertices are (2, 3) and (7. 6) then the thing
vertex i '

e (Brba chdls ot (4, 1) bat oo Bod fgren (2, 3) bat (7, 6) eaus, ardd 8.
3, ~-6) (4) (3, -06)

at

38

(1)°(3. 6) (2Y (-3, &) (3) |
35 In the below figure ARST - A grAlfhen the value of x is
Bop iy oot ARST A RBEA mous, © Deod
rl‘li
i /\
A x_~..;\ B
S )
{ 14 ) b
1 Hioli e Wialet
N decid
3
(3) A fborn Ps® i Sasmmai (4) Moot
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_q h} ¢ APy
If === -¥—", then the lines arc
L (2) (_‘nim:ldcm

(1) Unique solution @) N

o solutions

(3# Infinitely many solutions

oy .rtll ¢ .
— S -—F— sond, u Opw
4 bq 1.’-_1

(2) D8FITR |

(1) 988 265 $OA dodran i
(4) 62O

(3) Iy st i lealats BY) £0A dodran

s | respectively, thep i
. tonomial are L 3 Iy
If sum and product of zero's of a Quadratic polynor
corresponding quadratic polynomial 1S | .
5 A =4 ey 1,1 G, & o) 2eFeE Djé?
B8 D0 PR CT'.:JJQE,_ ‘éJ‘f'“'."Se_;- Twdo B rarger 220 e o bt |

R Bty e (4) x*—x+2
(1) x*—x+1 (2) x-+x+l1 (3) & o, ==
! | e T ;
Fhe sum of 10 terms of AP. : 2, 7, 12, iceeennre 18
2, 7,12, ........... ©wos@EESD 10 dore g Jodh ?
. f i a-':
(1) 340 (2) 345 (3) 240 {

[he slope of the line which makes T angle with the positive direction ol x-axisis

The distance between the points (2, 3) and (4, 1) is

(2. 3) Dban (4. 1) Dothipe Dk Brdhy Jod ?

(1) 2 (2) 2 (3) 342 4y .5
i LWL
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a=

d : . WS then
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